FR26FE EMREEAMAET7—F KHER
(FR26512A 108 ~23 B £ )

[RiEF %]

EMHZE 1L 2BAOME, EMEXIEE Y2 — 1 BRAHEICT V7 — FRERVEIRFEZE
REL, 77— FRADBREWEBRISEEBIC, AU E2—THTHAEERELINLT=, ELR
MmITEESNETU7— NI, BRRMERICEIRL., MHEERE L.

([ER#34]

12/100K) | 12/11(R) | 12/12(&) [ 12/13(x)| 12/14(8)| 12/15(8) ] 12/16(:k)
37 51 14 4 6 0 12
12/170K) [ 12/18(R) [ 12/19(z8) [ 12/20(%) [ 12/21(B) [ 12/22(B)| 12/23()| & &t
52 32 25 18 32 0 10 293
[REHER]
— = MEEE .
1 CHEIZOLWTESRLET, RES 101t

201K

1%

O ﬂiﬁ% BAL: A b=
104 9 3.1% .
204X 14 4.8% 24.9%
301t 33 11.3%
4018 32 10.9%
501% 36 12.3%
601% 92 31.4%
70 L E 73 24.9%
e JER 4 1.4%
O 15 A HE
B 102 | 34.8%
zE 160 | 54.6%
ERIE 31 10.6%

1720



O P B A HE REX

FER 5 1.7% I

TEHEFX 13 4.4% 5.5%

EMEX 241 82.3%

ABRX 16 5.5%

RX 5 1.7%

e LSt 3 1.0%

EMOE 10 3.4%

BEH
(S E%)

O mX BoA HE BEx
BPEHOEHESE) 35 11.9% 3.1%M
B o | 3% g
et 10 3.4%

FiF 86 29.4%
Z0ith 83 28.3%
EJEIR 70 23.9%

2720



2 HEEOFAKREICODLWTESENLLET,

O METRHEEEFIALE=CENHBYET N,

B HE

YA 291 99.3%

(AYAYS 0 0.0%

7 ] & 2 0.7%
[TLWhWZIDZEDERH])

O EDSBLDFETREFREICEKETY M (1)

BRI A teE
ZIFER 6 2.0%
E2~3ME 38 13.0%
3B 1 [|] 55 18.8%
(=R 121 41.3%
J=RIE 42 14.3%
FH[E 23 7.8%
BE(C1[E 1 0.3%
MHT 1 0.3%
R 6 2.0%

3.720



O ¥ LXBEFREHRATLESLN(1D)

B A HE
#Ed 85 29.0%
AR 8 2.7%
BERE /N1 100 | 34.1%
BHE=E 96 32.8%
EJER 4 1.4% 5;55

N
X

O EIZELRERBEITEDIENZNTTMN(1D)

RA-ZIAN mE

BAL: A b= %ﬁg(’]‘# & 1.4%
— AT 224 76.5% EUT)E 1.0%
- 7.8%
RIE(hgEH L) & 39 13.3%
FRIRUNEELT) & 23 7.8% Sk (chi
EpE)E
RAFIANE 3 1.0% Y
ZDith 0 0.0%
i E RS 4 1.4%

4,720



3 REEZLEDESICHIRAESAEIN

B A
EEARATA- M -FHELEERD 116 [Tg;ﬂ%] . .

N /N SRADEG \ —F
EENTCDAODVDAREE BT 2 32 ﬁfﬁ;g RS A E IS
A-HMEE-CDODVDLEEEY S 238 FHEEHEIZFIA
AN-H2E-CDODVDLEEF TS 67
BIFLBLE-TE-BELLEICSNTS 27
MEZEOEHTHARLNDET S 56
LI7LUAY—ERZFIETS 15
BRET—4R—RY—ERZFIHTS 5
Z Dtk 4
i EIRas 5
250

fE
2]
< ES
z-: .
200 # & &
?’% y 0 = -
i b N ¢ s
150 I,; < 63 7% 5 1
# ; o *0 L % 5 #
& D 1 v & B > i
© & > - < L 7
v 5 £ +3% e x 5
100 A f‘s* * 5 : 2 =
o bl # ) ? |
£ g K z L

% Iz £
50 % - 5 2 2

¥ m + 3

% i z =
¥ I g
0 [ 1 [ 1 [ 1

5720




4 BREICOVLWTHEFNRLET,

@ MERORES

BAL: A

it 2

132

PR

130

PORE

T

BEE

ms

20

JOREE (MR x S #h)

1
45.1%
44.4%

3.1%

0.7%

6.8%

i EEE

1068

204%

301%

401%

504%

6015

70m 2k

¥

e

14

15

38

o405 B

20

N
wW

53

POROTH

it

FEE

C|lOoO|= | W

— | ON

(3

i

= | = OO |W|N

—_

o

N
E-N

81

1405 B

—_ =

o

64

OROTH

i

FEE

A |

i

10405 B

OOTH

i

#EE

=A== == =A== == = =]

=A== == =A== R == =

=A== =A== R == = =]

oC|lo|O|=|NMN|O|O|N

— OO |W|O|O|N |

N OO |W | N|[W|N|— |0

O|O|=|IMNO|lwWw OO/l | | OO

- | OO |=|O|IMMVO/O|O|O|O|O|OO|OC|O

6.720




QO X-HBELEDTERE

BAL: A

it 2

68

PR

137

PORE

59

i

FEE

25

JOREE (MR x S #h)

1
23.2%
46.8%
20.1%

1.4%

8.5%

1068

204%

301%

401%

504%

6015

70m 2k

¥

e

©

9

26

o405 B

—_
~

N
o

46

POROTH

(=]

21

i

FEIE

%

i

35

1405 B

N | =
[=ik=1 =

78

POTE

—_

32

it

FOE

13

% B 38

i 2

0P R

13

POTE

it

#FOE

OO0/ 0O|0O|=|—mO0|=|m|O|O|O|O

OO0 |O|O|O|O|m|O|N|O|O|O|—=|hN

==l k=l == AR = = =l k=)

OO = OIN|=|O|WINIJ|O|O|—= W N

— | O|NWIN|O|O|NO W|IO|OIN M~ DN

NIO/O/WwiIN|O|—=|N

— | OIN|Hd = O|DoO ph|OO|— |0

il =l = R = === = =A== =]

1720




@ - HELEDRLPT S

BAL: A

b=

ik
R 81 27.6% 1.0%
PR 138 | 47.1% R
ROOFE 39 13.3% 13.3%
i 3 1.0%
EJER 32 10.9%
JDRER (M7 x £ #R)
1048 204% 304% 404% 504% 60 |[70@LIE| |EE | #E
WE 0 4 0 3 2 8 9 0 26
PRERE 0 1 1 3 3 21 22 0 51
i POFE 0 0 0 0 2 6 3 0 11
i 0 0 0 0 0 1 0 0 1
= EIPS 1 0 0 0 1 1 10 0 13
R 1 4 7 10 7 16 3 0 48
PRERE 4 4 17 9 10 24 8 0 76
é PR 1 1 5 4 2 3 4 1 21
i 1 0 0 0 0 1 0 0 2
EEE 1 0 0 0 1 4 6 1 13
R 0 0 0 1 1 3 1 1 7
| PPER 0 0 2 2 3 0 4 0 11
B | SPFRE 0 0 1 0 2 2 2 0 7
= i 0 0 0 0 0 0 0 0 0
HEEE 0 0 0 0 2 2 1 1 6

8.720




@ FHY—ERX

BAL: A

i B

130

PR

75

PROTFH

it

pIIPYA

26

EEE

47

JRRER (7 x &£E)

1
44.4%

25.6%
3.1%
2.0%
8.9%

16.0%

104

20%

304%

408

504%

70 L0 E

REZE

i

i e

17

37

1o B

1

33

OOTH

0

¥

it

—_

5L

FOE

i 2

28

0P R

—_ =

POTE

(3

it

=Y~y A

FOE

i 2

0P R

POTE

A |

ik

5L

#OE

o|lo|lo|jlo|o|o|= ||| O|dVO|=|lO|O|lOC|O|O

oO|lo|lo|Oo|0O|O|Oo|w|O|=|W|N|=|O|OC|O|N|N

- | = |O|O|O|=|O|=|O|NNIMD|M|=|O|O|O|OC|OC

oO|lo|lo|lo|O|w|lw|=|lO|=|d|dh|O|O|OC|O|H|N

= I ININ|IOIN=|O|W|—= = OO N OIN|W|—

N = OO0 |hd|J|wW|—|O|©

N = O|CO|=|hlO|=|O|= B DD|IN|W

- O|l0O|0O|O|=|= | |O/O|O|O|OCO|O|O|OC|OC|O

9.720




G BRELE-TE-BELEDTERE

EXVAPN a3
R 38 13.0%
PR 43 14.7%
POTRH 9 3.1%
i 2 0.7% BB
IS 131 | 44.7% S5 3.1%
#E% 70 | 23.9% 44.7% i
0.7%
JDRER (M7 x £ #R)
1048 204% 304% 404% 504% 60 |[70@LIE| |EE | #E
W E 0 1 0 2 1 3 1 0 8
PRERE 0 2 0 1 0 6 6 0 15
B | POFE 0 0 0 0 0 2 1 0 3
% x% 0 0 0 0 0 0 0 0
HBAEL 0 2 0 3 7 21 19 0 52
EEE 1 0 1 0 0 5 17 0 24
R 2 2 8 7 2 4 2 0 27
PRERE 1 0 7 7 2 4 3 0 24
& [POFE 0 0 1 0 1 1 1 0 4
% r 0 0 0 0 0 2 0 0 2
oL 3 7 13 7 14 17 6 1 68
EEE 2 0 0 2 1 20 9 1 35
R 0 0 0 0 1 1 1 0 3
PRERE 0 0 1 0 1 1 1 0 4
g BT 0 0 1 0 0 1 0 0 2
& | i 0 0 0 0 0 0 0 0 0
HSAL 0 0 0 3 3 2 3 0 Al
ERE 0 0 1 0 3 2 3 2 11

10720



® LIFPLURY—ER

EXVAPN a3
R 38 13.0% POER
PRER 30 10.2% 10.2%
PO 3 1.0% N\ OOTE
i 0 0.0% 1.0%
SN 143 | 48.8% Ao
\|MEE 79 27.0%
JDRER (M7 x £ #R)
1048 204% 304% 404% 504% 6048 [70mLLE| REE &
#HE 0 2 0 3 0 4 4 0 13
DO R 0 1 0 0 2 4 5 0 12
B [O0FE 0 0 0 0 0 1 0 0 1
% x% 0 0 0 0 0 0 0 0 0
AL 0 2 0 3 6 20 18 0 49
RS 1 0 1 0 0 8 17 0 27
g 2 1 9 4 2 5 1 0 24
DR 1 0 4 4 2 2 2 0 15
% |OOTHE 0 0 0 0 0 1 0 0 1
% r 0 0 0 0 0 0 0 0 0
DAL 3 8 15 11 16 19 9 1 82
|EE 2 0 1 4 0 21 9 1 38
B 0 0 0 0 0 1 0 0 1
BROHER 0 0 0 0 2 0 1 0 3
*ﬁ BT 0 0 0 0 0 0 1 0 1
= | T 0 0 0 0 0 0 0 0 0
AL 0 0 1 3 2 3 3 0 12
|EE 0 0 2 0 4 3 3 2 14

11720



BRAT-4A-29-t'Z

o Ty PRER
B A e 7.5%
R 21 7.2% ‘bf;;ﬁ
PR 22 7.5% b
POTE 3 1.0% 0.7%
i 2 0.7%
Mi5AEL 165 | 56.3% *ﬂ;ng/“
e JEIpS 80 | 27.3% -
IBOREET (1451 x F#h)
104% 204 3048 401 50£% 6048 [70mLLE| REE REt
#HE 0 2 0 1 0 4 0 0 7
DROHR 0 1 0 1 1 5 3 0 11
B | OOTRE 0 0 0 0 0 1 0 0 1
% x% 0 0 0 0 0 1 0 0 1
DL 0 2 0 3 6 20 21 0 52
WA 1 0 1 1 1 6 20 0 30
g 0 1 5 3 1 1 0 0 11
DR 0 0 4 3 1 0 1 0 9
% [POFE 0 0 0 0 0 1 0 0 1
% r 0 0 0 0 1 0 0 0 1
S 6 8 19 13 17 26 10 1 100
|EE 2 0 1 4 0 20 10 1 38
B 0 0 0 0 2 1 0 0 3
DR 0 0 0 0 2 0 0 0 2
*ﬁ BT 0 0 0 0 0 0 1 0 1
= | T 0 0 0 0 0 0 0 0 0
DL 0 0 1 3 2 4 3 0 13
|EE 0 0 2 0 2 2 4 2 12

12720




KEEDLBLEEPREE)

EXVAPN a3
i 34 11.6%
BHER 74 25.3%
PR 27 9.2%
i 3 1.0%
YA A 96 32.8%
IS 59 20.1%
JORER (M7 x £ #R)
104% 20% 30% 40% 50% 601X |[70mLLE | REE &t
R 0 2 0 1 0 4 5 0 12
PROHRE 0 2 0 2 3 9 9 0 25
B [OOTHE 0 0 0 1 0 6 3 0 10
% x% 0 0 0 0 0 1 0 0 1
YA 0 1 0 2 4 14 12 0 33
®|E% 1 0 1 0 1 3 15 0 21
R 2 1 4 3 1 6 3 0 20
POHER 0 0 10 10 4 8 7 0 39
& |OOFH 0 1 2 2 4 3 3 0 15
% r 0 0 0 0 0 1 0 0 1
YA 4 7 12 5 10 15 3 0 56
RS 2 0 1 3 1 15 5 2 29
R 0 0 1 0 0 1 0 0 2
PREE 0 0 0 1 4 1 3 1 10
*.5 BT 0 0 0 0 0 1 1 0 2
® | ik 0 0 0 0 0 0 1 0 1
YA 0 0 0 2 2 2 1 0 7
®|E % 0 0 2 0 2 2 2 1 9

13720




S%&. hZEANTELVODRVBAICOVWTESENRLET,

AEANTIELLVERYVEA |EER
R RO S 69
AEARORE 119
FERDFOTVEE 80
FHY—ERDFEE 46
BRGLE TE - BEOKE 27
LI7LURAY—ERDFEE 2
BRAT—2A—ZAY—EZXOEE| 0
PREBIDIER 25
FIRTOBTTOROBA | 41
REREA—LR—CDORE 34
BADGREEDR £ 15
Z0tt 5
|EZE 52

140
P
120 = =
B
. s T
100 F |8l F T
ax ﬁ Ly 4
| = | & B
» B ¥ B PR
= L T O®
: % Pl s
= 7 N ) &
- 1T
60 2 % .8 p 5 17 B =
= Etﬁ 2 T :R A P4 ()
A 7 | B 1)) I
E L 9 3] ﬂ ﬁ ity
40 2 v N D S f.%
5 = )
gL i
2 2 2 5
E e
0 — =

14720




6 BEEBEOREIcP>VWTESRLET,

@ HLWEO-BEMSOEL T

Bf A ME
B 176 60.1%
TR 96 32.8%
ELy 1 0.3%
EEES 20 6.8%
YO RERT (7 % £ )
104% 2048 304 4068 504% 604t |[70mLlE| MEE | &RE
=1 0 2 1 3 4 27 28 0 65
B| &E& 0 3 0 3 4 8 11 0 29
& = 0 0 0 0 0 0 0 0 0
BEE 1 0 0 0 0 2 5 0 8
BLY 7 5 23 16 13 25 7 0 96
x| ER 1 4 6 7 7 19 12 1 57
& = 0 0 0 0 0 0 0 0 0
BEE 0 0 0 0 0 4 2 1 7
BL 0 0 1 2 6 0 6 0 15
I 0 0 1 1 1 4 2 1 10
= | EL 0 0 0 0 1 0 0 0 1
B[O & 0 0 1 0 0 3 0 1 5
mEE
@ EEIHL 7.2% gy
Bf A M
RL 190 | 64.8%
i1 80 27.3%
ELy 2 0.7%
EEES 21 7.2%
JOREE (M7 x £ in)
1045 2068 304% 4018 504% 60f% [70mELLE | fMEIE #Et
=1 0 4 1 4 6 26 30 0 71
82| & 0 1 0 2 2 8 9 0 22
Bl =0 0 0 0 0 0 1 0 0 1
EEIPS 1 0 0 0 0 2 5 0 8
BLY 6 5 26 15 12 27 10 0 101
x| & 2 4 3 8 7 17 9 1 51
Bl = 0 0 0 0 0 0 0 0 0
ERZE 0 0 0 0 1 4 2 1 8
BLY 0 0 2 2 6 1 6 1 18
4!.5 L& 0 0 0 1 2 3 1 0 7
=5 BL 0 0 0 0 0 0 1 0 1
FEOE 0 0 1 0 0 3 0 1 5

15720



Q@ HHEFDNER o FEE
=et7.8%
B\ WE
RLy 191 65.2%
=g 77 26.3%
B 2 0.7%
A EES 23 7.8%
YO RERT (7 % £ )
10£€ 20£% 301% 401 501 60f¢ |70mLlLE| MEE | BE
Bl 0 2 1 4 5 25 33 0 70
B && 0 3 0 2 3 10 6 0 24
Bl = 0 0 0 0 0 0 0 0 0
BEE 1 0 0 0 0 2 5 0 8
BLY 6 5 24 18 13 26 13 0 105
x| B8 2 4 4 5 5 18 5 1 44
Bl = 0 0 0 0 1 0 0 0 1
BEE 0 0 1 0 1 4 3 1 10
BL 0 0 1 2 6 1 6 0 16
g =iE 0 0 1 1 1 3 2 1 9
= | &L 0 0 0 0 1 0 0 0 1
O % 0 0 1 0 0 3 0 1 5
@ B12LEH
Bf A M
RL 169 | 57.7%
i1 100 | 34.1%
By 1 0.3%
EEES 23 7.8%
JOREE (M7 x £Ein)
1045 2068 304% 4018 504% 60f% [70mELLE | fMEIE #Et
=1 0 4 1 3 4 21 23 0 56
82| & 0 1 0 3 4 13 16 0 37
Bl =0 0 0 0 0 0 1 0 0 1
EEIPS 1 0 0 0 0 2 5 0 8
BLY 7 4 26 16 13 23 10 0 99
x| & 1 4 3 7 6 20 9 1 51
Bl = 0 0 0 0 0 0 0 0 0
ERZE 0 1 0 0 1 5 2 1 10
BLY 0 0 1 2 6 0 5 0 14
4!.5 & 0 0 1 1 2 4 3 1 12
=5 BL 0 0 0 0 0 0 0 0 0
FEOE 0 0 1 0 0 3 0 1 5

16720




G HADZHYPTS

BN WE
By 161 54.9%
) 106 | 36.2%
B 3 1.0%
EREE 23 7.8%
I BRER (T x E#R)
10£€ 20£% 301% 401 501 60f¢ |70mLlLE| MEE | BE
By 0 4 1 4 4 22 24 0 59
B | LB 0 1 0 2 4 11 15 0 33
Bl = 0 0 0 0 0 2 0 0 2
BEE 1 0 0 0 0 2 5 0 8
BLY 6 4 21 15 12 21 8 0 87
% | ER& 2 5 8 8 7 21 11 1 63
Bl o= 0 0 0 0 0 1 0 0 1
BEE 0 0 0 0 1 5 2 1 9
BLY 0 0 2 2 5 1 5 0 15
g & 0 0 0 1 3 3 2 1 10
&= | BE 0 0 0 0 0 0 0 0 0
o1& 0 0 1 0 3 1 1 6

17720




<EOMY OAKE (REEFZER<) >

B4R ~ KEESEEE FIFEB|E2~3E| B | & | BAiE | E£4&%E (&Eci@E| wHT | FAALL
R B 0 2 4 7 8 0 0 0 0
S8 T 0 4 0 5 2 1 0 0 0
B &5t (] 6 4 12 10 1 0 0 0
. B 0 0 1 2 0 2 0 0 0
BEX ik 0 0 0 2 0 0 0 0 0
BEE £5 0 0 1 4 0 2 0 0 0
Bt 1 0 0 0 0 0 0 0 0
PE T 0 1 0 1 3 4 0 0 0
a4 5 1 1 0 1 3 4 0 0 0
- B 0 0 0 0 0 0 0 0 0
ER(X) T 0 6 19 39 15 3 0 0 0
iR &5t 0 6 19 39 15 3 0 0 0
Bt 0 1 10 28 3 6 0 0 0
ToH T 0 1 3 10 2 2 0 0 0
ZDfth £i5t+ 0 12 13 38 5 8 0 0 0
0 10 20 30 40 50 60 70 80 90
<
m o o B m(Z(XER
i
o o o &k B ®E2~3ME]
K @ 5E1mE
M o o B =
m
@ [RiE
o o o ik
= A1E
g o o =
= |
o o o
OFEC1E
K
wm © o B
ﬁ OM&HT
° o o i HEEEE e
ig]_ y
[
o o o

18720



XFi- i~ KEAHE

BEIE

%
(i B>
&
e

BiGE-
N

o
L

104X

204

301%

BFER 401t

504%

601k

70 LAE

BER £

106

204X

304K

TERHX 404%

504

60X

70m L E

HREFR K&t

106X

204

301%

—_

EME 4018

Lell=1=N K L == =1=1(=] L} b=l == [=)=]

501%

601%

70i%LAE

N —_—
O ODWININ=]O |INA == =O0]W |[—O—=O|—= OO

NN |—
WIN | O1

N (W
WONAANINW= |O—=00000]0 |[O00000 0

AME WA

[=23
(o]

©
©

~
~J

104X

204K

301%

KER 408

501%

60X

70m b

AER K&t

10X

204%

301t

2R 404X

501

604%

70i%LAE

RE S5t

101X

201X

301%

fl B LS 404K

504%

60X

70mE b

il &t

N |=O00=00]Ww|[0O0|=|—O= OO |IdNMNWwN=OO

(=} [=l[====l=l=] L 3 [==lt ==l (=] ==l =l =it (===l =] KLl (===l ==] k=d [=X==l=l==1=] =X =l==l=X=1=)=]

(=} [=l[====l=l=] L=2[==l=l=l=l=X=] LR (=l =={==1

el bndl=l[=l[=][=][=][{=] [=N[=l[=]l=l[=l{=]l{=]=] L. H =(=l[=l[=l{=lt(=]

19720




106€

204%

30t []

401X

504¢ [7]

0

60f¢ M

Tomt FH

BFX| o

104€

0

204X

0

301K

401X

506X

60X

70 LA E

B

106X

204X

301

401K

506X

604

70 Ll E

pN=|

106X

204K

301

401X

501

0
0

604X

0

70 Ll E

RE| 0
0

106X

0

204% [<f-

0

301K

40t [

sott [F

0

601X

0

70 Ll E

0

s

&

106%

206K

OE
30t [4

4018

(]

501

0

601

0

T ¢ M VY S

ozt A

20720




